£33 128 2R F 2 a2 fi2 i3
~ v 111 E 1207 29 PR EF THRT IS E AR S ropl

P RRIRB S (PR I A HRIR TR R B § 128

: \i%/}ggaﬁ%-

W

106 = 9 7 2 px 110 # 9 * | pEIAE > FEaTd Fie o
E—T}'IJF*)“E'-‘}:_]J’fiQJllﬁf%%iét—;"_Bh,__ﬁp,}:’zé

7~

(- )%‘2" B RSB ORT EREZ G TP 4 FERT Mg 23 A
P s P F A s RAR S BRB B REET A ERA L R PSR
3o
CGRESHRAS 20 a4 D BAKT F 2 RE W EL
B g o)
(AR rcH =B 22 Mo~ @ Moo~ FREP 5 2 TR
FERR R AAT RN L CREED )
(Z)% = BAAFIRBEA L 254 Bﬁ,ﬁ&gﬁ%@]%ﬁai F 4k o
(Z)% = %’i‘?ﬁﬁ“%*@”’ﬁi%(ﬁ)%%ﬁ%‘&”—iii%%"
(R0t 5 RABP-THH o N L RReHPM FE S B A
5@£195ﬁ”¢>
2R AHAFINZE & BRI A 8153304 )
A FIFE AR A B2k -~ B w0 ) 5 330 4 VAt R 2 B A 2234
TR R ELI0TA .
(= D)3F—»~ B a0 2TA (0]} FL:274)
(Z )2 A R3804
T~ PEIEHP AR
(C)RAZEF L1284 6p m 2L MBI L HF 2 b
(https://winsin. topschool. tw/Home/Main) °
(ZD)IEH SR 112847 6p F =9pF304 247 28p T = 35304 >
e & 7 35(06-3584023)
1~ %-FFE(RAXF) - 112852 8p + =10pF257 10p ™ = 3pF >
’“7'\51"‘ MyeE@ g e o (112857 11p F = o ®4P~ L H 2 344F)
2~ % PR (- 44 )t 112&57 15p F =10pF2 5% 18p T = 3pF >

ok B ML 3



(m )Fh FpFRF 112857 22p F = 10pF > W AF 2 B OBy > &5~ L H
SA I AF A E sk (https://winsin. topschool. tw/Home/Main)
(I )P~ HE 2@ 1 112&857 22p T 22304 > 22430 AFl v 2 fF 2 ezt
(https://winsin. topschool. tw/Home/Main)
(= )3 3| P&
1~ B4 1 112#5% 23p F =10pF25% 25p T = 3pF o
2~ B4 1 112#5729p F =10pF 257 31p T = 3pF o
LPA R g TR N 0 AR B E PERAR T
WH AR FARIFARR R o AFFE AR B2 kAR
(= )z p pFRF 1 112252 23p 252 310 « (BFIFERFHEF)
(M)BEZEph 112#87 1p -

T ~H @

(m)R(E )it d RESEREAp T T EH- &) & T
g B YRR A F 2R B R
2P AP F R FR Y B - B *i » (5 )rernz 2
B~ 54 LH % - Ei o

(CHFEP2FREFETL 11321231 p 2+ G FEFTHRE BT LHETH
BopE o F v AR 0 Rld AFl R FERARZ o

(= )2 4B~ 2 L2 F| e i » g]—-g VAL R - P (B[P BTt
Bk BHEI T - BAER ) NF G ATHUELTAF] X FE R &
Pl E G-

(z2)110 # 9 # 2 prisdid & 3% 2 kA p§F? > FrFmF 4
'ﬁr'lgjl%g

(T)rFlcg Rkt e iR Y hPE#AP 2 BEFHPL 0 1115 E R4
(111 #87 4=) 7E & T 8% 51757 423,000~ » %2757 421E2, 000
oo B3I A AR, 00071» s T # R P M 2 AR R
Zipd weppner A S @R TR T e 3 KIRRIS I § RS

A Afiggd s sz‘-}-? v R112#37 300 5 & (- ) F
1120440303530 % A {5 » 5 B 2 pF > 7T o

&
\\a



